








1 can model division of fractions Visually and use this teChhique to assist in real-wor|d
situations.
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"1 Can Interpret a Real-World Situation and decide which QOperation to use to Solve Word
Problems involving Multiplication and Division of Fractions.”
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Al: How many 1—5~-meter pieces of wood can you cut from a piece that is = -meter long?
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A2: You have 5 cups of birdseed. You use % cup of birdseed each day. How many days will
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A3: A restaurant is making hamburgers. The cooks use = pounds of beef for each

hamburger. If the cooks have 44-% pounds of beef, how many hamburgers can they make?
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A4: A town recorded 2

—in. of rainfall in 6 weeks, with the same amount falling each week
il e ———a ——
How much rain fell each week?
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AS5: A box of snack size cracker packs weighs 28% ounces. Each snack pack weighs 4=
4

ounces. How many snack packs are in the box?
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A6: How many — pound bag of trail mix can be made from 6-3— pounds of trail mix?

REN

=2
. %
3

X8
!‘fXI’ 8/' ¥ :
7 [T Lc of  dreil  mix

(

A7: The area of a rectangular park is % square mile. The length of the park is 3 mile. What

is the width of the park? A = L s )
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A8: Bethany needs to earn money by walking a certain number of miles. She will walk for 7
days and needs to walk total f8 : miles. If she walks the same amount of miles each

day, how many miles will she need to walk each day?
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A9: A set of dictionaries need to be placed on a shelf. Each dictionary is ]Z inches thick

and the shelf is 18% inches long. How many dictionaries will fit on the shelf?
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A10: Carmen has % of an hour to write an essay. If it takes her ! of an hour to write each
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paragraph, how many paragraphs will Carmen’s essay have?
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All: Susan has 84 pounds of dog food. Each day, her dog eats — pound of dog food. How
- 7

many days will the dog food last?
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Al2: On a string of Christmas lights, there is a light every 2% inches. If the string of

Christmas lights is 100 inches long, how many lights are on the string?
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